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1. Why does the author feel the need to restrict the Parliament's ability to amend the Constitution?

(a) The fundamental structure raises several questions regarding Parliament’s authority.

(b) The Parliament might abuse its authority.

(c) The Parliament has the power to change fundamental elements.

(d) The Constitution's Part III guarantees that we have some fundamental rights that cannot be violated.

2. Which of the following statements regarding the passage’s enumeration of many objections of the basic
structural doctrine is true?

(a) Only if the Constitution is altered and adjusted for the people will the intended change be visible.

(b) Every constitutional amendment is subject to the veto power of the Supreme Court.

(c) The ultimate decision-makers in constitutional interpretation are the people’s elected representatives.

(d) When a constitutional amendment jeopardizes the basic structure of the Constitution, the doctrine should be
applied.

3. What position does Professor Dietrich Conrad take on the basic structure doctrine?

(a) The Parliament's ability to amend the Constitution is subject to some restrictions.

(b) If the Judge gives a succinct list of the fundamental structure, the Parliament might offer some fresh
viewpoints..

(c) The concept of the fundamental structure prohibits the judiciary from abusing its power.

(d) Parliament doesn't abuse its majority authority.

4. “But of what use this desired change will be to the people at the cost of the Constitution.” is an example of which
of the following?
(a) Irony (b) Pun (c) Rhetorical question (d) Hyperbole



5. Which of the following interpretations of the passage is untrue?

(a) To keep a majoritarian government in check, doctrine is essential.

(b) The reason it is a subjective doctrine is not explained by the author.

(c) The author does not just defend and criticize the doctrine.

(d) This doctrine, according to the author, is an essential check that we all require.

Answers & Explanations
1. Ans. (b)
Sol. Options (a) and (c) are not the cause of the necessity to restrict the amending power, hence they can be
disregarded. Both options (b) and (d) are accurate, however option (d) will be disregarded because it describes
how the power can be abused, resulting in the removal of fundamental rights. We require a justification for the
restriction of the amending power. i.e., option (b).

2. Ans. (d)
Sol. Option (a) is out of context, hence it is erroneous. Although the passage claims that the Supreme Court has
assumed that they are granted the power in the name of basic structure, Option (b) appears to be right. The
judiciary, which includes the Supreme Court, serves as the final interpreter. Option (d) is the appropriate response
as a result.

3. Ans. (a)

Sol. Option (c) can be disregarded because the judiciary enacts laws, whereas the Parliament has a strict
prohibition on abusing its authority. Option (b) is accurate, however the issue at hand concerns Dietrich Conrad's
interpretation of the basic structural concept. Option (a) is erroneous since it conflicts with the passage's logic.

4. Ans. (c)
Sol. Rhetorical question is a question asked in order to make a point rather than to get an answer.

5. Ans. (b)

Sol. Options (a), (c) and (d) are incorrect because they are given in the passage. In spite of criticising the concept,
the author shows why it is essential to have one in order to serve as a check on majoritarian rule. It clarifies why
this philosophy is arbitrary and nebulous. As he queries the doctrine's genesis, option (b) is implied.



